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FINPLAN 
Hands-on 4: FINPLAN Results Interpretation 

Learning outcomes 

By the end of this exercise, you will be able to:  

1) Run a complete model using FINPLAN. 

2) Understand the operating Account, the Cash Flow, and the Balance Sheet. 

3) Calculate the results of the model using financial ratios, such as Leverage, Exchange Risk, and 

Debt Service Coverage. 

4) Interpret the results of different financial ratios.  

Activity 1 

Results Menu  

Now that you have entered all the data required for financial analysis of the coal power plant, we 

press the button òCalculateó. FINPLAN provides two sets of results, one is òIntermediate Resultsó 

and the other is òFinal Resultsó, reported under the item results. Intermediate results are useful to 

explain the final results. We first explain the final results. If you click the button results, the 

following screen appears. It has six items: òOperating Accountó, òCash Inflows and Outflowsó, 

òBalance Sheetó, òShareholdersõ Returnó, òFinancial Ratiosó, and òProject Finance Analysisó. In the 

next couple of lines, we explain each of these items one by one. 
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Activity 2 

Operating Account  

If you click òOperating Accountó, the table below will appear. Operating account is explained in 

the lectures. This table summarizes the yearly income and expenses due to operation of the 

project, and it shows whether the firm is making money from its operation. It should be noted 

that all results are in million local currency, and at current prices.  

The top five rows present the income by year. The only income from the project is revenue from 

electricity sales. As operation starts from the year 2017, so do the sales of electricity. This is 

reported in the third row at the top. Although electricity amount to be sold remains constant, as 

price increases over time due to inflation, therefore, revenue increases too.  

Let us focus on the expenditure block now. The plant has only two operational expenses: fuel costs 

and O&M costs. Other expenses are financing-related, including interest payment, foreign 

exchange loss, and depreciation.  

Foreign exchange loss occurs due to the currency depreciation. In simple terms, suppose in the 

year 2014 you borrowed 100 US dollars and the exchange rate is 3.5 Ringgits per dollar. So, when 

you converted it into local curren cy, you received 350 Ringgits. You have to return those 100 

dollars in the year 2016, and in that time the ringgit depreciates, and the exchange rate becomes 

4 Ringgits per dollar. So, you need 400 Ringgits to buy 100 dollars. Therefore, in 2014 you received 

350 Ringgits, but when you return that money you need 400 Ringgits. 400 minus 350 is 50 

Ringgits, and that is foreign exchange loss. We have assumed Malaysian Ringgit is fairly stable, so 

foreign exchange loss is not substantial.  

Depreciation expense is 137.4 million Ringgits every year, starting from the year 2017, when the 

plant goes into operation, and continues for 20 years.  

Total expenses are calculated and reported in the row called òTotal Expensesó. 

Subtracting total expenses from the total revenue in a particular year is how the net income is 

calculated. It is reported here as òProfit or Lossó. Profit when it is positive, and loss when it is 

negative. You may notice that the plant makes losses till the year 2017, and thereafter it makes a 

profit. The plant pays tax only when it makes profit. However, if you notice carefully, it started 

paying tax only from the year 2021, although profit starts from 2018. This is due to the tax loss 

carried forward provision, which we will explain in a few moments. 
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Operating Account in FINPLAN  

 

 



 
 

CCG 2021                                                                                                                                                Page | 5 

If you click at the left top corner, you can export this table in Excel, which makes computation 

easy. On the next page, you can see this Excel table in two screenshots. 

Tax Loss Carried Forward  

Look at the first screenshot from Excel. Coming back to the tax issue, we have added a couple of 

rows at the bottom to show the tax calculations. From the row on profit or loss, from year 2014 

till 2017, the plant makes losses. In 2014 the loss was 17.2 million, in 2015 the loss was 57.8 million, 

and so on. Thus, till the year 2017, the accumulated loss of the firm was 184.8 million Ringgits. 

Now by the tax loss carried forward option, this accumulated loss can be carried forward to the 

successive years, to calculate the taxable income. In 2018, expenses before tax were 1073.1 million. 

When subtracting these from the total income, we get net income as 34 million, which is positive, 

but if the accumulated loss is carried forward, then the firmõs taxable income is ò-184.88 plus 34, 

which is a loss of 150.8 million. So, there is no need to pay tax. Similarly, in 2019, the net income 

before tax is 54.7 million, but when the accumulated loss of 150.8 million from the previous year 

is added, the firmõs taxable income is minus 96.12 million. So, again there is no need to pay tax. 

Continuing this way, in 2021, for the first time, the firm makes a positive taxable income of 83 

million, so the firm needs to pay the tax. Applying a tax rate of 25%, tax in that year is 20.8 million. 

Afterwards, the taxable income is positive every year, and the firm needs to pay tax. 

Dividends and Retained Earnings 

Now analyse the same table a little further by focussing on dividends and retained earnings. Look 

at the second screenshot on the following page. Net income is divided into two  parts: dividends 

which will be paid to the shareholders and the remaining income which will be kept within the 

firm as retained earnings. Dividends can be paid only when the firm pays tax. Therefore, the 

dividend payment starts from 2021. Till 2020, as taxable income is negative, no dividend will be 

paid, and the entire prof it is kept in the firm as retained earnings.  But how is the dividend 

calculated in FINPLAN? You may remember, you have used the dividend rate as 50% in the equity 

screen. Dividend in a particular year is a minimum of 50% of the equity, and 50% of profit, 

whichever is the minimum. You can check that till the year 2028, equity is 650 million; therefore 

50% of the equity is 325 million. Up to 2028, profit is always less than 325 million, so the entire 

profit is distributed as dividends. In 2030, equity is 250 million because of equity return in 2029 

and 2030. So, 50% of the equity is 125 million. However, the profit is higher than this amount, so 

125 million is distributed as dividend, and the remaining is kept within the firm as retained 

earnings. 
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Operating Account Exported in EXCEL - Tax Loss Carried Forward  

 

Operating Account Exported in EXCEL - Dividends and Retained Earnings  
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Activity 3 

Cash Inflows and Outflows  

We move to the next item by clicking òCash Inflows and Outflowsó. The table below shows all 

sources of cash that come into the project account at a certain year and the cash that goes out as 

expenses. Clicking at the top left corner, this table can be exported to Excel as well. On the 

following page there is the Excel table which could be used for calculations. 

The block at the top shows cash òInflowsó by sources. During the construction years, the sources 

of cash have included equity, loans, and stand-by facility. The company borrows from an export 

credit entity as well as takes a project loan. However, they are added together and reported as 

òLoans Drawdownsó. This money will be spent to pay the bill of the plant construction. There is a 

shortage of funds; therefore, the model withdraws from the stand -by facility to match the fund 

requirement. 

From 2017, only cash inflow is revenue. However, between 2022 and 2030, stand-by facility is used 

again to meet the shortfa ll. 

Let us look now at the lower block, which presents the cash òOutflowsó. Between 2013 and 2016, 

the major expense is construction related. Other expenses are interest payments and loan 

repayments. From 2017, outflows include operating expenses, such as fuel, and financing 

expenses, such interest payments, loan repayments, etc.  

In the last row, cash outflow for VAT payment and cash inflow of VAT reimbursement are reported. 

VAT repayment is reported in negative terms, 219.8 million Ringgits, which is used to repay the 

stand-by facility that paid the VAT.  

From the year 2034, a large amount of cash is deposited as a short-term deposit, visible in the 

top-most row. This is not a good use of cash, as a short-term deposit provides low interest.  

In conclusion, this is not a good financial plan. A better financial plan can be developed. 
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Cash Inflows and Outflows in FINPLAN  

 


